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Guess Paper – 2011
Class – XII
Subject – Chemistry

Time:3hrs                                                          





                              MM:70
General instructions:

All questions are compulsory.

Marks for each question are indicated against it.

Questions number 1to 8 are very short –answer questions, carrying 1 mark each. Answer these in one word or about one sentence each.

Questions number 9 to18 are short –answer questions, carrying 2 marks each. Answer these in about 30 words each.

Questions number19 to27 are short –answer questions, carrying 3 marks each. Answer these in about 40 words each.

Questions number28 to30 are long-answer questions of 5 marks each. Answer these in about 70 words each.

 7 Use log tables, if necessary. Use of calculators is not permitted

	Q1.
	What do you mean by enantiomer ?
	1

	Q2
	Define the selectivity of catalyst.
	1

	Q3.
	Why violet colour appear when K is heated with KCl ? 
	1

	Q4.
	Define maximum b.p. azeotrope.
	1

	Q5
	What is the role of NaCN in froth floatation method for separation of PbS from ZnS ore ?
	1

	Q6.
	With what neutral molecule is ClO-1 isoelectronic ?
	1

	Q7.
	Draw the structure of BrF3.
	1

	Q8.
	Write the I.U.P.A.C. name of following compound .

                                     CH3CO CH2CO CH=CHBr
	1

	Q9.
	Define the osmotic pressure of a solution .Describe how the molecular mass of a substance can be calculated by using osmotic pressure. 
	2

	Q10.
	A 5%  solution (by mass) of cane sugar in water has freezing point of 271 K .Calculate the freezing point of 5% glucose in water if freezing point of pure water is 273.15 K.
	2

	Q11.
	Describe elementary reaction. ii.What will be the order of reaction of a reaction in which rate of reaction becomes double if initial concentration quadruple .
	2

	Q12.
	The ∆fG of Cr2O3 is -540Kj/mole and that of Al2O3 is -827Kj/mole is the reduction ofCr2O3 is possible by Al.  
                                               or

i)Describe  the role of Cryolite in  extraction of Al. 

 ii)Role of I2 in refining of Zr .                                                                                                                                                 
	2

	Q13.
	How you can prepare phenol from Chlorobenzene?Which is more acidic phenol or ethanol  ?
	2

	Q14.
	Discuss the Williamson synthesis give the reaction between anisole and HI.
	2

	Q15.
	How you can distinguish between 1°,2°,3° amines.
	2

	Q16.
	Explain why in aqeous  medium the basicity of following  are   (C2H5)2NH>(C2H5)3N>C2H5NH2  but in gaseous state (C2H5)3N>(C2H5)2NH>C2H5NH2?
	2

	Q17.
	i)Write the Difference between D.N.A. and R.N.A.

ii)Reducing and non reducing sugar.
	2

	Q18.
	Discuss the following term i.Peptide bond  ii.Reducing sugar.
	2

	Q19.
	What is thermosetting plastic ?Write the monomer of Nylon 6 and teflon.
	2

	Q20.
	Discuss the following terms and mention one use:

i)Antihistamines 

ii)Cationic detergent

 iii)food preservatives
	3

	Q21.
	Silver crystalises in to a f.c.c. lattice with a edge length of 408.6 pm. Calulate the density of crystal.

        (At.mass of Ag=108 u and N₀=6.022x1023)
	3

	Q22.
	The decomposition of hydrogen peroxide follows the equation :

                    logk=(14.34  −1.25x104K/T)

Calculate the energy of activation for this reaction.
	3

	Q23.
	i)Write the difference between hydrophilic and hydrophobic colloid.

ii)What will happens if electric current is passed in  a Colloid.

iii)Define the tyndal effect.
	3

	Q24.
	i)Why does R3N=O does not exist but R3P=O can exist?

ii)Explain why H2 Te is more acidic than H2S?

iii)Why does ICl is more reactive than I2?
	3

	Q25.
	a)Write the method of preparation of sulphuric acid by contact process.

ii)Write the method of prepration of XeOF4.
	3

	Q26.
	Show the tetrahedral splitting of d subshell .And state how pairing energy is related with Δ°t in a metal ion (M+n) having d4 configuration.
	3

	Q27.
	i)Why chlorobenzene does not show nucleophilic substitutionreaction?

ii) In the given pair of organic compound,identify which one will undergo SN1 reaction faster.


                      Cl






and











           Cl

    (ii) How will you convert Aniline to Chlorobenzene ?

 
	3

	Q28.
	For the  following galvanic cell;
                                        Zn/Zn+2 ||Cu+2/Cu

Given;   [Zn+2] =0.001 mol/L and E°cell =1.10 V,E of cell =1.013 V
i)Molar concentration of Cu+2=?

ii) Standard free energy at equilibrium ΔG°=?

iii)State how corrosion is an electrochemical process. 

                                                Or
 (a) Define the kohlrausch law. 


 (b) Which will have greater molar conductivity? Solution containing 1 mol acetic acid  in 200 ml or 1 mol of acitic acid in 500 ml.    









(c)Calculate the Λ°m and dissociation constant (Ka) for acetic acid, 

if   Λ°m of HCl,NaCl,CH3COONa are 426,126,91 SCm2mol-1 and conductivity of 0.001028 mol L-1 acetic acid is 4.95x10-5 Scm-1.



 

	5

	Q29.
	 a) Give two reasons why Aldehydes are more reactive than Ketones.


b) Convert Benzoic acid to Benzaldehyde.
c) Distinguish between Ethanal and Propanone  by simple chemical test.
d) Give one example to show Wolf Kishner reduction.
e)CH3CH=CHCHO   
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                                                      OR
Complete the following reaction:

i)HCHO + KOH (conc)             
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ii)CH3CHO + KOH(aq)             
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iii)C6H5COCl      
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Discuss the following reaction:

i)Clemenson reduction 

ii)Hell- Volhard Zelinsky reaction


	5

	Q30.
	Account for the following:                                                                                                      

i)Transition elements have higher boiling points .
ii)Zn, Cd and Hg are normally not regarded as transition elements .
iii)Transition metals exhibit higher enthalpies of atomisation.
iv)Transition elements show variable oxidation states and colour

v)The Cr+2 is a strong reducing agent whereas Mn+2 is not.
                                                            OR

Account for the following:






i)Sc, the first member of first transition series doesn’t exhibit variable oxidation state.




 ii)Transition metals have a strong tendency to form complexes.

 iii)Zirconium (atomic no 40) and hafnium (atomic no 72) exhibit similar properties.
iv) How does acidified solution of potassium dichromate react with (a) H2C2O4 and (b) KI?
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